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Please read this information before the examination starts.

This examination is 60 minutes long.

AII questions should be attempted.

A row of dots .......... denotes a space for your answer

Where answers are not exact, they should be glven to three sngmflcant flgures
unless specmed otherwise.
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e The & button on your calculator should be used for calculations involving =.
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| ; ing each number. correct-
1. (i) (a) Rewrite the following  calculation, rounding edvit to

1 significant figure.

19.1
Answer: ~ o ©
arsasnsan x-------.a..r
(b) Work out the value of your answer to part (i) (a). |
ANSWET ovovvireereesessessssncssaseemsesssesasssesssens (-

(i) {a) Writing down all the figures shown on your calculator, find the value of

191
481.4x2.09

Answér: ........... (10

(b) Write your answer to part (i) (a) correct to

(i) 3 decimal places

AnSwer: ... ()
- (i) 3 significant figures
- S0 o L AnSWér ----------------------------- )
SA.28310228 - g e e




2. For this question, you are told that

1 mile = 1.61 kilometres | ‘
1.76 pints = 1 litre
11 pounds = 5 kilograms

Katie is going on a hiking exped_ition.
She plans to watk 30 miles.

(s) Use the mformatlon in the box to write this d:slance in kilometres.

O , | , " : ANSWET .vciveerermseenereme KU (1)

When walking, Katie is advised to drink 5 p'ints of water each day.

'(ii) Use the information in the box to write this amount in litres.

ANSWEL: oot 1 {2)

When packed, her rucksack has a mass of 25 pounds.

(iii) Use the information in the box to write this mass in kilograms.

o] o R ———— kg (2)

Katie takes 22 minutes to walk the first mile.

(w) if Katie continues at this speed how long after she started does she reach the .
5-km mark? - '

Give your answer to the nearest mmute

ANSWET: occeeorrnecevenssrens aemin (2)

"t:'S._'A.28‘3102’28 . B . % masg 3 3 T | ;__-_Tu;z_r.zoyerﬁ.
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3. Miss Venn sel's calculators in the schocl Math% shop

- Each calculater costs her £3.72 N
During 2008, she scld these calculators for £5.50 eac

2
i) How much pfo“ t did she make on each caiculator

. AREE - o Sireins s (1)

(i) Calculate this rrofit as a percentage of the price she pays.
Give your answer correct to 1 decimal place.

0
ANSWET: wvvvemsivssmmsasssmssnsnsnnnnns S (2)
In 2009, she decided that she would only make 252 profit on each calculator.
(ii) Calcttats the price she charged during 2009,
ANSWER £ oo . (2)
In 2008, she sold a total of 32 calculators at £5.50 each.
By reducing her sei ,ng pnce in 2009 she sold more ca!cu}ators s .
(iv) Complete the table below. : ' 0
profit, per - numberof | '
calculater calculators solg | otal profit
2008 | . | 32
S ssaracssatsanEzeamas g .................
2009 | .
e O o
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4. (3) :2 nt:;s ’_numbcr sequence, the nex! term is oblained by adding the two previous

For example, 4 +5 =9 ,
1 4 5 9 14 23 37 ...

(i) Write down the noxt two terms after 37

ANSWEL: 1ureniaereans crnerens B0 e (1)

(1) How many prime numbers less than 100 aré there in the sequence?

ANSWER +eeeerensaassssnessesessassnssnses reeesenmereenans (2)

(b) Another sequence follows the rule: = halve the number, then add 1

(i) Write down the second and third terms if the first term is 62

Answer: second term = evenrereeeenns eveeeens

third term = .ccciniianens LA— (2}

Using the same rule with a different first term, Suzie noticed that the third term in
her sequence was larger than the second term. _

(ii) Write down a number she could have used as the first term. -
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rolls tWO fair tetrahedral dlCE both nurnbered rom 1 _
C n h omes. ‘6 A
(i} Cor plete the table DGIOW to show all the p0551ble oulc .

second die

1| 2 3 | 4
1 -11 1 . . 1 ¥ 2 1, 3
2 2,2
first
die '
3 3,4
. i
4 ‘ 0
(2)
(i) Use your table to write down the probability that
(a) both dice show the same number
ANSWer: ..o (1)
(b) the total of the two numbers is 6
0
Answer: ... (1)
Both dice show different numbers.
(i) What is the probability that the produ'ct of the numbers ig prime?
ANSWer: ... 2

. SA.28310028 . g
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(iv) i Tim rolls the two dice BO times, how many times would he expect to geta3on
one die and a 4 on the other? -

ANSWET! ciiveeeeessasiennsensisssssssnsieens (2) .
6. Simplify the following expressions:
(i) 48 + 622 |
e R {1)
(i) 28° x -3a°
, Ansﬂver; .................... (2)
Gy (2a%)*
ANSWET: oo sereees oo 2

S.A. 28310228 o 7 - ~ Tumover



t | 7. (a) Multiply out any brackets and simplify

. ()10-3(x~s5)

ANSWer: ............

() X2x + 1) — 2% + 1

| . \ | , : Answer: s s e (2)

v

(b) (i) Factorise completely 12y% + 3y

._ ANSWEr: ..iiiveenns e (2)
o 12y243y

! : ! — 7

| (i) Sjmp ify T

37 ] ) R L . ANSWET: ...oc.ccvvrnrearerenns —— (1)

8. (i) Astraight line has the equation y=2-x

(a) For this straight line, complete the table of values below.

X . 2 ) 4
4 | ., |
- 0
. (b) On the grid opposite, draw and label the graph of y =2 ~ x ) )
. S.A.28310228 8
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3x — x° complete the table of values below.

frer)

(i) (a) When y

(2)

15

2.25

| (b) On the grid above

()

y=3x—x*

draw and label the graph of

¥

=3x-x°

Write down the equation of the line of symm'etry of the graph of ¥

(c)

eatsssenbEbnmn

see

- Answer

find the two values of xwhere 3x-— x*?

B A R Copgin o 24

= X

=2

(iiiy From your graph.

@ -

rreeenes AN eierrrennrione

waa

X = cneesen

-
Ly

Answer

Turn over

- S.A. 28310228




(i} By considering the size of angle v, calculate the 'number of sides of the polygon.
' : , . F ANBWETS citpomsvmsssmes IR |
(i) Calculate the size of

(a) angle BOC

. A.nswer:‘ 3_8(: = erreevene s O (1)
(b) angle BCO | |
Answer: BCO= e ° () |
o L (©) angle BCE
Answer: BCE = ... °4 )
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0. AZ00 keeper weighs and meagyreg each zebra in

his zoo.

A scatter graph of the results is shown below.
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mass, in kilograms

shoulder

height,
in metres

0

?

(i) What fypé of correlation does the graph show

(1

Essrsnwra

A -

e

-Answer: ...

(i) Draw a line of best fit on the graph.

(i}

£1)

0

use your line to estimate

Showing clearly where you take your readings

(@) the shoulder height of a zebra with a mass of 30 kilograms

prrssennen M (1)

" NewsksmEasan

»

Answel_'

T

{(b) the mass of a zebra with a shqu!dérheight of 0.84 metres

e kg (1)

trricimanmoan

R

.
v

Answer

(iv) One of the zebras is very underweight.

wmo(1y

Turn over .
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1. Acard company has designed some %
mathematical cards for Valentine’s Day. .. ‘ ;
This design consists of two small semicircles with B
radius 4 centimetres and a larger semicircle. |

(i) Calculate the distance d. 5

Answer: A= creveerecnrrrrasoasansasann R . CM (1)

(i) Calculate the total area of the deSign._

)

ANSWEL: oo M.V . S cm? - (3)

The card company also makes a rectangular card.

The ratio of the width to the height is 1: 3 and the perimeter
of the rectangle is 60 cm.

(iii) -Calculate the area of the rectahgle.

. 'sazeswo228
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P 2. When the time is 10 00 in London, itis 20 00 on the same day in Sydncy. Australia.
(i) Write down the time and day in Sydney when itis 15 00 on Monday in London.

ANBWET sisrssvsionsaens e O covssseimsnscrsseereine (2)

Kylie's jourmey from London 10 Sydney takes 22 hours and 30 minuteé.
She arrives in Sydney at 19 15 on 1st December.

(i) What was the time and date when she left London?

s ANSWER Lenssimissenaes 613 [P S (3)
. ' .
i A 28310228 13 Turn over
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not to scale

f‘ - 10.6m

(i) Calculate the length AB.

The area of triangle ABCis 72 m®.
-(ii) Calcutate the length AC. : .

(iti) Write down the length CD.

- (iv} Calculate the periméter of triangle ABC.

| S.A. 28310228
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"}%

Answer: AB = Lvienne M {2

ANSWET: AC = e 0T 40

Answer: CD = ... Ae— ) L

Answer: e Y Y



 Mike the mechanic has ¢ cars and m moto
his workshop waiting to be serviced. rbskes in

Ag:ogether there are 14 vehicles. - AR P G

() Write down an equation, in terms of
this information. - | ¢ and m, to Show

‘Answ'er: (1

Each car has 4 tyres and each motorbike has 2 tyres‘
 He counts that there isa total of 38 tyres on the vehicles.

(i} Wnte down an equat:on in terms of c and m, to show thls snformatton

y ANSWER: . .o ivtmrerirennne T N S - | e 1)

(iif) Solve.yc)u‘r'iwo'e'quaiions to find fh’e__Valuee‘ofeand .n'?.' o

CARSWEL: € = cuviemaineeesteesssessemsn e sssesn e,

M:ke charges £120 10 serv;ce each car and £80 to ser\nce each motorblke

(iv) How much does he charge altogether for servxcmg these 14 vehlcles‘?

“Answer: E ............... e . (2)
TURN OVER FOR QUESTION 15 ' ‘ - '

- ‘5-28310223 h A - 15 | _ - Turn over






